CompSci 101 AC - 2001
Terms Test Answers

Question 1:

Output from class QL:

RN
eolole]

Question 2:
The completed act i onPer f or med() method for the class Q2:

public void actionPerforned(Acti onEvent e) {
String s1 = tOne. get Text();
String s2 = tTwo. get Text ();
t One. set Text (s2);
t Two. set Text (s1);

Question 3:
The complete (B class:

i nport java.aw.*;
i mport java. applet.*;

public class B extends Applet {
public void paint(Gaphics g) {
final int SlIZE = 25;

drawRect (0, 0, 2*SIZE, 2*SIZE);
drawRect (2*SI ZE, 2*SI ZE, 2*SlI ZE, 2*S| ZE);

drawOval (0, 2*SIZE, 2*Sl|ZE, 2*S| ZE);
drawOval (2*SI ZE, 0, 2*SIZE, 2*S| ZE);

drawLi ne( SI ZE, Sl ZE, 3*SIZE, 3*SIZE);
drawLi ne( SI ZE, 3*SIZE, 3*SIZE, SIZE);



Question 4.

The complete 4 class:

import java.aw.*,
i nport java.applet.*;
import java.awt.event.*,

public class 4 extends Applet inplenments MuselListener {

private TextField t XChange, tYChange;
private int prevX prevY, currentX, currenty,

public void init() {

t XChange = new TextField("0 ");
t YChange = new TextField("0 ");
add(new Label ("x-change: "));
add(t XChange) ;
add(new Label ("y-change:"));
add(t YChange) ;

prevX = 100;

prevY = 100;

current X = 100:;
currentY = 100:;

addMouselLi stener(this);

public void paint(Gaphics g) {

final int SIZE = 4;

.setCol or(Color.red);

.drawLi ne(prevX, prevY, currentX, currentyY);

. set Col or (Col or. bl ue);

.fill Rect(prevX - SIZE/ 2, prevY - Sl ZE/ 2, Sl ZE, SlIZE)
fillRect(currentX - SIZE/ 2, currentY - SIZE/ 2, SIZE, SIZE)

QO

public voi d nousePressed( MouseEvent e) {

prevX = currentX;
prevY = current;

e. get X();
e.getY();

t XChange. set Text (String. val ueO (current X - prevX));
t YChange. set Text (String. val ueO (currentY - prevy));

current X
currentyY

repaint();
}
public voi d nouseRel eased( MbuseEvent e) {}
public voi d nouseEnt er ed( MouseEvent e) {}
public void nouseExited(MuseEvent e) {}
public void noused i cked( MouseEvent e) {}



Question 5:
Output from the class (b:

1. value: 90
isvValid: fal se
2. value: 83

Question 6:

(1) Output from the class (6:

val ue: 4
val ue: 7
val ue: 10
val ue: 13
val ue: 25

(i) Output from the pai nt () method:

[=—i-cF—F——=—108

| dpplet Loaded

i

Question 7:
Output from the class Q7
10
50.0
one: 110
two: 160.0

three: 340.0




Question 8:
TheDr awabl eStri ng class:
i mport java.awt. *;
public class Drawabl eString {

private String text;
private int xPos, yPos;

public Drawabl eString(String initial Text, int x, int y) {

text = initial Text;
xPos = Xx;
yPos =y;
}
public void setPos(int x, int y) {
xPos = Xx;
yPos =y;

public void setText(String s) {
text = s;
}

public void draw Gaphics g) {
g.drawString(text, xPos, yPos);



Question 9:

The class(QO:

i mport java.aw .*;
i mport java. applet.*;
i nport java.aw .event.*;

public class @ extends Applet inplements ActionListener {

/1l The array of ints
private int[] theNunms = {36, 60, 78, 65, 93, 43, 37, 59, 108, 114};

private Button bChangeVal ues;

publ i

publ i

publ i

c voidinit() {

bChangeVal ues = new Button(" CHANGE VALUES");
bChangeVal ues. addAct i onLi st ener (this);

add( bChangeVal ues) ;

c void actionPerformed( ActionEvent e) {

for (int i =0; i < theNuns.|length; i++)
theNuns[i] = (int)(Math.random() * 90 + 30);

repaint();

c void paint( Gaphics g ) {

final int BAR LEFT = 10; /** left of bar*/
final int BAR RIRGHT = 230; /** right of bar*/
final int BAR TOP = 40; /** top of bar*/

final int BAR BOITOM = 50; /** bottom of bar*/

/** horizontal step between each |line */
final int X STEP = 20;

[** x position of first line */
final 1nt FIRST_LINE POCS = BAR LEFT + X STEP;

//draw the top bar in red
g. set Col or (Col or. red);
g.fill Rect (BAR_LEFT, BAR TOP, BAR RI GHT - BAR _LEFT,
BAR BOTTOM - BAR TOP);

//draw the |ines hanging fromthe bar
g. set Col or (Col or. bl ack) ;
for (int i =0; i < theNuns.|length; i++)
g.drawLine(i * X _STEP + FIRST_LI NE_PCS, BAR BOTTOM
i * X_STEP + FIRST_LINE_PCS, BAR BOTTOM + theNuns[i]);



